H £ 0l & AF & S

Al A

SA I OoNel
Hu: wol=X) Ol X4
&t Ll E0 XA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
L OIZOH Q! 1t 175,492,040 155,247,387 20,244,653
= 129,103,900
[ 218,540
Il 23,543
Al 33,742,331
- 12,403,726
LIS Dl 24 103,205,795 93,212,904 9,992,891
= 77,537,800
Al 17,068,370
- 8,599,625
COIEN X2 130,920 131,020 A100
Al 6,500
- 124,420
COIAR B A& 127,920 128,020 A100
Al 6,500
- 121,420
201 fer= 3| 125,500 125,500 0
Al 6,500
- 119,000
01 At22t2l] 1,000 1,000 0
OLoI=X 822 M& S
1,000,000 1,000
03 A=Y 124,500 124,500 0
OQlo = & F=229 & A=A
124,500,000 124,500
Al 6,500
- 118,000
202 04| 1,620 1,620
01 =LHOLI 1,620 1,620
o220l 1,620,000& 1,620
203 HR=H] 800 900 A100
03 A=A R =AH] 800 900 2100
O=FLAIHFX 800,000 800
SAH2EN 20 SIS 3,000 3,000
307 el2to| & 3,000 3,000
1 AMEISXAIEEXS 3,000 3,000
OFAME W=F 3,000,000 3,000
Lol SXAE XIE € &5 2,021,031 1,837,170 183,861
Al 746,293
- 1,274,738
cel=EXs 23 1,632,631 1,482,970 149,661
Al 515,250
T 1,117,381




SA I OoNel
M o= Jlet =4
&l Lol SXNAE @ & &5 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 1,595,131 1,460,970 134,161
Al 515,250
- 1,079,881
05 212t =S 1,595,131 1,460,970 134,161
oA UFA2 28 821,285
O FK2 23|
781,085,000 781,085
Al 242,355
- 538,730
OBAR MM LHI(R 2 +=¢)
40,0002 x15EF « 12 7,200
Al 7,200
OZAT HSMMLI (A2 R24E)
150,000 x15E « 12 27,000
Al 27,000
CRINEIEREET 6,000,002 6,000
OoggLo=si2 28 773,846
OogasX2 23|
738,206,000 738,206
Al 209,055
- 529, 151
OFAT MMM (X2 2S)
40,0002 x13E12& 6,240
Al 6,240
OBARE HSHAI (A2 224
150,000 x13& «12& 23,400
Al 23,400
OdHHAIEItN S =& 6,000,000& 6,000
401 AIEHIZ R OHYI 37,500 22,000 15,500
01 Al&HI 37,500 22,000 16,500
OLe=XZ Alg22 37,500
OARA BIEUM(SF - =X2)
12,000,000 12,000
OXNMNFRE HE & =0 HHI(S
TLEoI=X ) 5,500,000& 5,500
O =N 15 S =7 =
20,000,000 20,000
AILIOIZEE 29 319,000 312,000 7,000
Al 185,643
- 133,357
307 gl2to| & 319,000 312,000 7,000
Al 185,643
- 133,357
10 Al SXAI2EE 22X 319,000 312,000 7,000
OAILIIZEE 289 319,000




SA I OoNel
M o= Jlet =4
ool Lol RAIL XY U EE (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAILICIZE =gl 310,000,000 310,000
Al 176,643
- 133,357
OBARL =& 150,0002 6+ 122 9,000
Al 9,000
AMNEISTISAL MR (el Zojel, Me2H) 69,400 42,200 27,200
Al 45,400
- 24,000
307 gl2to| & 69,400 42,200 27,200
Al 45,400
- 24,000
10 Al SXAZEE 22X 69,400 42,200 27,200
OAIZISXIAIE SAHRG &S SKIEUE
KR (el ZoHel, M2 F)
45,400,000 45,400
Al 45,400
OAZISXIAIE SAHL} 58 SXEE
=t A& 200,000 »120H 24,000
olasante X# 101,063,844 91,244,714 9,809,130
= 77,537,800
Al 16,315,577
- 7,200,467
J=¢s XS (XAHEX) 90,024,090 79,504,154 10,519,936
= 72,022,923
Al 10,800,700
- 7,200,467
301 EetE2 NS 90,024,090 79,504,154 10,519,936
= 72,022,923
Al 10,800,700
- 7,200,467
01 Al EE A2 (2RNEXMR) 90,024,090 79,504,154 10,519,936
OPJESES) 90,024,090,000& 90,024,090
= 72,022,923
Al 10,800,700
T 7,200,467
colgiiel € ABIES XIZ A 11,029,754 11,740,560 AT710,806
= 5,514,877
Al 5,514,877
201 Zet=3hl 48,056 81,868 A33,812
= 24,028
Al 24,028
01 AtR2te|Hl 48,056 81,868 A33,812
OolgXte] S0kt HARUF(AAWR)
3,000,000 3,000




SA I OoNel
mal: Lol=x| |8 X4
&l elasaitel X (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,500
Al 1,500
Oolgdxte] HoX NI (S
3,000& x630H *32] 5,670
= 2,835
Al 2,83
OLoIgxtel #0iXt 243l (S2)
10,0002 630 6.300
= 3,150
Al 3,180
Oolgte] +aJ|a 2teal
15,0002 x30& *43] 1,800
= 900
Al 900
OLolgdxie] A2F R (HL S)
21,286,000 21,286
= 10,643
Al 10,643
Ozolgxel T8 O HE 7Y
10,000,000 10,000
= 5,000
Al 5,000
202 04| 2,400 2,400 0
= 1,200
Al 1,200
01 SLHoIH 2,400 2,400 0
Owolgxel FYX 2UH0MHI
20,0003 x1Z+102~ 122 2,400
= 1,200
Al 1,200
301 eEetE2 N = 1,901,340 2,340,250 438,910
= 950,670
Al 950,670
01 Al E2E AL S(FRDEXMA) 1,901,340 2,340,250 438,910
OkoledXie] 0 &SH] 1,901,340
OLolURtel EHOoiXt HSH
270,000 «630H 112 1,871,100
= 935,550
Al 935,550
ool 2 BE=+¢
30,0002 «63H 112 20,790
= 10,395
Al 10,395
oLoledXiel HUA doi2S
15,000 *630 9,450

_4_




SA I OoNel
M o= Jet =4
el =elasgRel XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,725
Al 4,725
307 elztol & 9,077,958 9,316,042 238,084
= 4,538,979
Al 4,538,979
1 AMISXAIEEXS 9,077,958 9,316,042 A238,084
O olUXtel AFSHI(s=8012t) 9,077,958
O QI te] AtHI(=2D]2)
8,469,070,000& 8,469,070
= 4,234,535
Al 4,234,535
OLOIUTR| ST QI (S3IIB)
608,888,000 608,888
= 304,444
Al 304,444
Lol =X sd 6,162,997 5,507,158 655,839
= 2,027,475
[ 64,540
Al 2,327,060
- 1,743,922
LoI=X N2 5,230,340 4,571,642 658,698
= 1,946,261
= 64,540
Al 2,109,919
- 1,109,620
celolE=sXAIE X3 370,208 410,490 N40,282
= 15,859
Al 360,419
- 3,930
201 fer= 3| 2,520 2,520
01 AtR2t2|HI 2,520 2,520
oIy |2 N8 AR =
70,0002 x4 <03 2,520
202 04l 810 810
01 2LHoIH 810 810
o220l 810,000 810
301 LEtE N = 600 600
02 MR 2HALFS(HAAS, XLHE) 600 600
OIIEl SAESH| 600,000 600
307 @12t01 & 334,560 334,560 0
Al 334,560
10 Al SXAAEEHE2EHI2x 334,560 334,560 0
oI 2SXAIE SAHR X2
334,560,000 334,560




2A:

X XH -
o=

=@t L= XA (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 334,560
402 2I2F X201 & 31,718 72,000 N40,282
= 15,859
Al 15,859
02 QI XH2AILEE (01X THE) 31,718 72,000 A\40,282
OLQQAAIE JIsSELAY
31,718,000 31,718
= 15,859
Al 15,859
OIS XIAIE XIE 423,290 423,290 0
Al 423,290
307 lztol & 423,290 423,290 0
Al 423,290
10 Al SXAEEE 22X 423,290 423,290 0
OMIH=QI=TIAE 2
134,256, 4303 34 2 402,770
Al 402,770
OMItAIE SA XRHE =<
150,0002 x9S * 122 16,200
Al 16,200
OMIIAIE SAHRE X2 =g
40,0002 x0E * 12 4,320
Al 4,320
NAS ol HE2d 1,531,560 1,216,460 315,100
Al 871,800
- 659,760
201 et 3| 2,000 2,000
01 AtR2te|Hl 2,000 2,000
OZzAag 28 4235 78 S
2,000,000& 2,000
203 HR=H] 810 810
03 A=A 2= 810 810
OFQAIH =& 810,000& 810
301 LEtE N = 345,150 255,150 90,000
Al 52,575
- 292,575
02 A EE A S(FANE, XLETHE) 105,150 105,150 0
O CIDHEAIL ESHI
100,000&+701& 70,100
Al 35,080
- 35,050
OIS 2yl 50,0003 +701 35,080
Al 17,525
- 17,525




SA I OoNRl
Hm: Lol =X =
oels 2oISX X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 240,000 150,000 90,000
OB =AY NASAHAL 2HI24
10,0002 *96 2 x250 240,000
307 gl2to| & 1,163,600 938,500 225,100
Al 819,225
- 344,375
11 AMISXAIEEX 1,163,600 938,500 225,100
Ogzad 23 1,028,850,000& 1,028,850
Al 720,225
- 308,625
OMAS Tt AAHHE ALY
134,750,000 134,750
Al 99,000
- 35,7850
401 AlZHIZ SO 10,000 10,000
01 A28l 10,000 10,000
OdzAad HES 10,000,000 10,000
405 KHakE SH 10,000 10,000
01 Tt =S F = 10,000 10,000
OZzag =57 10,000,000 10,000
SHCel, e SSATtHAEA XA 132,440 118,093 14,347
= 64,540
Al 35,630
- 32,270
307 glztol & 132,440 118,093 14,347
s 64,540
Al 35,630
- 32,270
11 AMRISXAEEES 132,440 118,093 14,347
OSsLELAMHIA XA
129,080,000 129,080
s 64,540
Al 32,270
- 32,270
OSSAHHAAMHIA SAHL =22
40,0003 x2E« 123 960
Al 960
OSsAHLAAMHIA SAHT MME=E
100,000 x2&~12& 2,400
Al 2,400
COIE=ESAHIA X 2,772,842 2,403,309 369,533
= 1,930,402
Al 428,780
- 413,660




SA: LoIE0H et
Hm: Lol =X =
=@t L= XA EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 2,772,842 2,403,309 369,533
= 1,930,402
Al 428,780
- 413,660
11 Al SXAMEE R 2,772,842 2,403,309 369,533
O=QIRBEZHHIA N
2,757,722,000& 2,757,722
= 1,930,402
Al 413,660
= 413,660
OLQIRESSHUIA SAX A2
40,0002 9« 12& 4,320
Al 4,320
OLOIRESEAHIA SAX HLHESE
100,000& 9 x 12& 10,800
Al 10,800
Lol 23 X 932,657 935,516 22,859
= 81,214
Al 217,141
- 634,302
22 29 N& 572,502 558,388 14,114
Al 163,284
- 409,218
307 QIZ2t01 A 507,502 493,388 14,114
Al 148,284
- 359,218
10 AISIS XA EEE2IHIE X 458,550 448,760 9,790
O3dz2Y 22| 380,230,000& 380,230
Al 62,131
- 318,099
OZZ2Y | 48,950,000& 48,950
Al 34,265
- 14,685
OZ=2Y daty| 29,370,000& 29,370
Al 27,412
- 1,958
11 AL SXAMEES 48,952 44,628 4,324
OF2Y =3x8 22X XN
48,952,000 48,952
Al 24,476
- 24,476
405 RHaHE S| 65,000 65,000 0
Al 15,000
- 50,000
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SA I OoNRl
Hm: Lol =X =
eel: Lol 2#s X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OL-QI=TIAIE AR ZHIslu|
1,045,000 1,045
OZ2Y 2=xel RAl2el
8,532,002 8,532
OstMARY FRAY SR U +&
2= 2,400,000 2,400
401 Al HIZL 2018 50,000 50,000
01 Al&H| 50,000 50,000
OZ=zdg M2+ 50,000,000& 50,000
SNz 23 110,100 106,254 4,846
Al 13,250
- 96,850
307 @120l & 110,100 105,254 4,846
Al 13,250
- 96,850
03 M EE2SHIEX 71,300 66,454 4,846
Os7LeXg 23 71,300,000 71,300
11 AMEISXAEEES 38,800 38,800 0
OaAg a5 A& 2,500,000& 2,500
Al 1,250
- 1,250
OLoltist XI& 8,000,000 8,000
Al 2,000
- 6,000
OO0 Xz 2SAE A&
20,000,000 20,000
Al 10,000
- 10,000
OZ=2€ AlLIoZ % K& 4,800,000 4,800
Ogt=tisl 3,500,000& 3,500
ol =X sd 23,007,348 20,566,264 2,441,084
= 11,439,843
Jl 23,543
Al 11,133,533
- 410,429
HoHeI=X X 20,337,828 18,434,768 1,903,060
= 10,124,748
Al 9,854,451
- 368,629
ZoHI=XHR =8 40,565 38,506 2,060
201 fer23y| 39,755 37,69 2,060
01 AtR2t2lHI 10,070 8,010 2,060
Odgt==H| 3,870




SA: SOIEOfOI It
Mz Fofel =X SA
& HOoHeI=X K& (SH9 H2)
SA - EB - S(BIH) - HIRAY = Ofl by e MimE=E)
OFMNL NSt EX 7L
3,000,000& 3,000
Ol Y £2F 7
500,000& 500
Ox=0HEYGAI E9 =2 70,000& 13| 70
OZE Rl QA NS 2ZAIZ2
300,000& 1 *13] 300
OHMNUNEFI TS PIEEXIEF 22| AIAE
SANE4 350,000+ 12& 4,200
OI*OHO'I*R—’F—ﬂ-_rlO" PIEEXIEE 22| AIAE
XEMICHAA &Y 2,000,000 2,000
02 B22ZH| 7,335 7,335 0
OO 2EX2IE LW HisH|
3,820 %1601+ 12& 7,335
03 HAIZHHI 22,350 22,350 0
OHFOC Sollna =27 29
22,350,000 22,350
202 44| 810 810
01 2L Y| 810 810
O&2/¢| 810,000 810
oI XIAIE X 4,604,807 4,874,474 N269,667
Al 4,426,513
- 178,294
203 YR =&IH| 580 580
03 AIZHF=RIHREEIY| 580 580
OFLAIMEX 580,000 580
307 S1ZH0| & 4,604,227 4,739,196 A 134,969
Al 4,426,513
- 177,714
10 AISISXAIEEE2IHIEX 4,597,727 4,733,19% AN 135,469
OZOHQ! ZATHEAIE 2HH|(3HA)
909,486, 700& 909,487
Al 909,487
OZHOHR! F=2tEBSAlE 2HHI(4HA)
701,062,850& 701,063
Al 630,957
- 70,106
OFEZ 20 =22 SHEH 298| (3A)
917,026,610 917,027
Al 917,027
ORL|EZ0He! )| ESHE 2HH|
645,438,050 645,439
Al 645,439
OS¢LsH SSMEIIE 29|
46,440,390& 46,441
Al 46,441




2A:

mo: Fojel =X S
Rl oIS A=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O==0S S =gl 668,312,510& 668,313
Al 668,313
OBfI=XIAL %0t 29| X
1,000 x 175212« 12& 44,100
Ogadie ddusdH 23|
551,841,000& 551,841
Al 551,841
OZTSSZY NYYEXBUE 29
114,016,000& 114,016
Al 57,008
- 57,008
11 AMISXAIEEX 6,500 6,000 500
OZMHA=SXAIE HE LH3
3,000,000 3,000
OHMA=XNAIE SHE LSOl
3,500,000& 3,500
SRl =XAIE OlI8E KA 73,800 57,600 16,200
Al 73,800
301 LEIE NS 73,800 57,600 16,200
Al 73,800
02 A S2EHS(FIANE, XLETHE) 73,800 57,600 16,200
Oge e SXAE 018z K&
50,0003 *x123E 128 73,800
Al 73,800
ool M==AY 23 55,200 55,200 0
Al 55,200
307 elztol & 55,200 55,200 0
Al 55,200
05 2ItRIE = 55,200 55,200 0
OF0je ME28Y AR2H|
55,200,000 55,200
Al 55,200
ol sXE20 XA 6,925,910 5,685,474 1,240,436
= 4,846,373
Al 2,077,017
- 2,520
201 ger= 3| 2,520 2,100 420
01 At 2|l 2,520 2,100 420
O=g=g 2,520
Ox2A 42?22
70,0002 x3& x 122 2,520
307 elztol & 6,923,390 5,683,374 1,240,016
= 4,846,373
Al 2,077,017
05 212+ =S 6,923,390 5,683,374 1,240,016




2A:

. ZOje =X S8
Rl oIS A=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OIS K2 A 6,923,390,000& 6,923,390
= 4,846,373
Al 2,077,017
NS SXIR M (AIH]) =AY 731,273 690,060 41,213
Al 731,273
307 glztol & 731,273 690,060 41,213
Al 731,273
05 git?(&=s 731,273 690,060 41,213
OZ USSR AN (AIH]) FItAL
731,273,000 731,273
Al 731,273
Fofelas2x IR 66,728 40,494 26,234
= 46,709
Al 20,019
307 212+01& 66,728 40,494 26,234
= 46,709
Al 20,019
05 21t = 66,728 40,494 26,234
OHUMALSKFAIL IS0
66,728,000& 66,728
= 46,709
Al 20,019
2EMEAMEIL BIRH X 740,000 687,000 53,000
= 518,000
Al 111,000
- 111,000
307 gl2to| & 740,000 687,000 53,000
= 518,000
Al 111,000
- 111,000
05 21t =S 740,000 687,000 53,000
OgaMaAMtlA HIRXAIH
740,000,000 740,000
= 518,000
Al 111,000
T 111,000
HOLEXE HIRMAIE 17,000 19,000 22,000
= 12,000
Al 5,000
307 @I2t01 & 17,000 19,000 A2,000
= 12,000
Al 5,000
05 2IR”IRIE = 17,000 19,000 22,000




2A:

2 Zoiel =X S
Rl oIS A=A (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SENEENEITESIE
17,000,000 17,000
= 12,000
Al 5,000
HETOHC! F2UHESMUIAKRA 1,357,143 1,028,571 328,572
= 950,000
Al 407,143
307 QIZt01 A 1,357,143 1,028,571 328,572
= 950,000
Al 407,143
05 CIZtRAErZ 1,357,143 1,028,571 328,572
ORIl FABEAHIA X
1,357, 143,000& 1,357,143
= 950,000
Al 407,143
LETOHC! F2HESMHIA AIBIZIHKIR 111,618 30,000 81,618
Al 111,618
307 212+01 ™ 111,618 30,000 81,618
Al 111,618
05 CIZtAErZ 111,618 30,000 81,618
OLLHME! FARSHHIA N
111,618,000& 111,618
Al 111,618
HEHTOHC! SutsE= AL KA 285,714 266,567 19,147
= 200,000
Al 85,714
307 2I2+01A 285,714 266,567 19,147
= 200,000
Al 85,714
05 QIZtRIErZ 285,714 266,567 19,147
O&EAE LT HsssAHIA X
& 285,714,000& 285,714
= 200,000
Al 85,714
MASEOHR MaEE 231,300 222,120 9,180
Al 231,300
301 LPENZ 231,300 222,120 9,180
Al 231,300
2 A BEHHZ(HAANS, NYHA) 231,300 222,120 9,180
OMAE SEEC! Zol=
230,500,000& 230,500
Al 230,500
OdSeI2AH K& At 800,000& 800
Al 800




2A:

. ZOje =X S8
Rl oIS A=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
goiel=s =0 A= 3,820,000 3,723,000 97,000
= 2,674,000
Al 1,146,000
301 EtE N = 3,820,000 3,723,000 97,000
= 2,674,000
Al 1,146,000
01 Al EE A S (2 RNEXMA) 3,820,000 3,723,000 97,000
O&ed=s 3,820,000,000& 3,820,000
= 2,674,000
Al 1,146,000
=2 0Ix)X= 665,497 369,170 296,327
= 465,848
Al 199,649
301 LEtE NS 665,497 369,170 296,327
= 465,848
Al 199,649
01 Al EE A S (2 DEXMA) 665,497 369,170 296,327
OFM=&(0I=x) 665,497,000& 665,497
= 465,848
Al 199,649
oA RAS)K=S 415,879 335,604 80,275
= 201,115
Al 124,764
301 LELEN S 415,879 335,604 80,275
= 291,115
Al 124,764
01 A2 HSFS(RNEERTHE) 415,879 335,604 80,275
OZ ==L (X&) 415,879,000& 415,879
= 291,115
Al 124,764
o2 =X 136,270 251,418 115,148
= 109,016
Al 27,254
308 AHXIHMSO0IA 136,270 251,418 115,148
= 109,016
Al 27,254
11 SIS0 EAS A 136,270 251,418 115,148
O2l2H| X (222028, a2
I 136,270,000 136,270
= 109,016
Al 27,254
NASHOHQ! e & A 3,374 2,976 398
= 1,687




SA I OoNel 1t
. ZOje =X S8
Rl oIS A=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,687
301 EtE NS 3,374 2,976 398
= 1,687
Al 1,687
01 Al E2E AL S(FRDEXMA) 3,374 2,976 398
OMAS Z0HQl ASH] X A K&
3,374,000& 3,374
= 1,687
Al 1,687
ZOHeIZERD|1D| W2 12,000 13,785 A1,785
= 10,000
Al 2,000
301 EtE NS 12,000 13,785 A1,785
= 10,000
Al 2,000
01 Al 2E A S(FRNEXMA) 12,000 13,785 A1,785
OZOATHE LRI+ XIZA
12,000,000 12,000
= 10,000
Al 2,000
NHMEOHe! HAAE XNALH K2l 25 43,750 43,750 0
Al 17,500
- 26,250
307 el2to| & 43,750 43,750 0
Al 17,500
- 26,250
02 QB HANEEX 43,750 43,750 0
OXIME0HL! HOAAIE X2HH SIS
At 43,750,000 43,750
Al 17,500
- 26,250
OHQ! AM2IEO KIE 2,669,520 2,131,4% 538,024
= 1,315,095
7l 23,543
Al 1,279,082
- 51,800
oL X2 X (L LRtel) 1,124,538 986,356 138,182
= 562,269
Al 562,269
301 EtE NS 1,124,538 986,356 138,182
= 562,269
Al 562,269
01 AR 2EHSHS(RDNEXRTHE) 1,124,538 986,35 138,182




2A:

M mojol =X EA
Rl ZOoHR! AFRIEO K (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ ool AR2IN A (LU ELTI2)
1,124,538,000& 1,124,538
= 562,269
Al 562,269
ZOoHId Kl XI& (SXILXel) 674,892 515,238 159,654
= 337,446
Al 337,446
201 2= 2,000 2,000 0
= 1,000
Al 1,000
01 At22t2lt] 2,000 2,000 0
OFoHILXtel 2| 2,000,000& 2,000
= 1,000
Al 1,000
301 EtE NS 672,892 513,238 159,654
= 336,446
Al 336,446
01 Al 2E A S(FREXM) 672,892 513,238 159,654
OFOe! LXK (=X LT2)
672,892,000& 672,892
= 336,446
Al 336,446
ZoHel LX2IXI@ (AREMLXI2) 374,935 289,846 85,089
= 187,468
Al 187,467
301 LEetE N = 374,935 289,846 85,089
= 187,468
Al 187,467
01 Al EE AL S(FRDEXMA) 374,935 289,846 85,089
OFOHQ! X2l XI& (AIZEMLXt2l)
374,935,000 374,935
= 187,468
Al 187,467
SO LRIR A (LS QULSA 2= LR2l) 164,258 0 164,258
= 82,129
Al 82,129
307 el2to| & 164,258 0 164,258
= 82,129
Al 82,129
1 AMISXAIEEXE 164,258 0 164,258
OTOHALRIIXIH (LEHOHQ! LUES A
SaRUxe) 164,258,000 164,258
= 82,129
Al 82,129




2A:

2 Zoiel =X S
Rl ZOoHR! AFRIEO K (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SEZOfCl =X KA 50,256 62,650 A12,34
Al 50,256
301 LB F 50,256 62,650 A12,3%
Al 50,256
02 MBI EZASHS(HUAS, XLTHA) 50,256 62,650 A12,3%
OgEZe =Rl XN
50,256,000& 50,256
Al 50,256
A2 ZOH QI OFOFAFIHA AF 182,228 174,265 7,963
= 145,783
Al 36,445
307 gI2tol ™ 182,228 174,265 7,963
= 145,783
Al 36,445
05 QIZtRIErZ 182,228 174,265 7,963
OAIZEOHC! OHOFAF IFAANS
182,228,000& 182,228
= 145,783
Al 36,445
Zojolz2ted &l K& 51,800 59,026 NT,226
307 212+01™ 51,800 54,984 A3,184
02 QIZtAAAIEE R 14,000 18,000 24,000
OXIEEMCIEa S7X2 At 3,000
OXIZEMOIES RRU=
1,000,000& 1,000
OXIEFOCIES Jt=2II013
2,000,000& 2,000
OXMZEISTEal At 11,000
OXe! =tREEH 4,000,000 4,000
Q&R SXESEUS 7,000,000& 7,000
03 QIZIHXHE2GHIE X 37,800 36,984 816
OXEEMeI=XEs S7X=F 23|
7,300,000& 7,300
OXIMEOelIgel s+X2 22|
30,500,000 30,500
STSHHR XNEXEFSE FHLXI ALY 46,613 44,115 2,498
| 23,543
Al 23,070
307 QIZ2t01 A 46,613 44,115 2,498
| 23,543
Al 23,070
11 AR SXAMEER 46,613 44,115 2,498
OSTHC XNGSEE FHIXNIAMS
46,613,000 46,613




2A:

L=
. ZOje =X S8
Rl ZOoHR! AFRIEO K (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 23,543
Al 23,070
NASE dgord JJgt = 42,975,503 36,813,887 7,161,616
= 38,098,782
= 154,000
Al 3,213,368
- 1,509,353
NASE I =dEE2d 38,936,995 32,183,115 6,753,880
= 34,765,766
Al 2,868,041
- 1,303,188
NASE dotd XA 145,183 111,502 33,681
201 =3 420 420 0
01 Al222lH| 420 420 0
OMBEEIAE 519 HALY
70,0003 6 *12] 420
202 04l 810 810
01 =LHAHI 810 810
o220l 810,000& 810
203 2=l 760 760
03 A=A PR FZ| 760 760
OFLAIF =&l 760,000& 760
301 2= 143,193 109,512 33,681
02 MBI 2HHSFS(FHAANS, KLHE) 143,193 109,512 33,681
OIEMEBHLST BYHZE
310&+5,400E 122 «6H 120,528
ONASE 22(29)282
17,1703 «1102~ 122 22,665
A= 24,266,667 21,028,222 3,238,445
= 21,840,000
Al 1,698,667
- 728,000
301 EtE N = 24,266,667 21,028,222 3,238,445
= 21,840,000
Al 1,698,667
T 728,000
01 A2 HSFS(RNEERTHE) 24,266,667 21,028,222 3,238,445
OdASN 24,266,667 ,000 24,266,667
= 21,840,000
Al 1,698,667
- 728,000
FHE0 13,868,336 10,779,346 3,088,990
= 12,481,502




FA I OoNer 1t
M HASE MBOIF J|g 1%
o NASSE JzdEed EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 970,784
T 416,050
301 EtE NS 13,708,727 10,640,737 3,068,990
= 12,338, 7%4
Al 959,681
- 411,292
01 AR 2EHSHS(RNEXRTH) 13,708,727 10,640,737 3,068,990
= 13,709,727,000& 13,700,727
= 12,338,754
Al 959,681
- 411,292
403 AXIEHHSAH=201H 158,609 138,609 20,000
= 142,748
Al 11,103
- 4,758
02 SVI2S0 U H=E 2 EAIEI 158,609 138,609 20,000
O =AS0HAE SSAISHI
158,609,000 158,609
= 142,748
Al 11,103
- 4,758
MEsy= 9,416 7,644 1,772
308 AHXIHMS0IA 9,416 7,644 1,772
08 wW=J| 202X 9.416 7,644 1,772
Ouss0 9,416,000& 9.416
FSESPN =10 151,286 136,294 14,992
= 136,157
Al 10,590
- 4,539
301 2PEN= 151,286 136,294 14,992
= 136,157
Al 10,590
- 4,539
01 Al EE A S(FRNEXM) 151,286 136,294 14,992
Oofl &t HI= 0 151,286,000 151,286
= 136,157
Al 10,590
- 4,539
=2l 120,107 120,107 0
= 120,107
201 er2 3| 120,107 120,107 0
= 120,107
01 At2t2lt] 120,107 120,107 0




FA I OoNer 1t
3 MASS dEo8 Jlgt 15
BHel: NASS JIZMEEH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZRac|e= =Hhd| 120,107,000 120,107
= 120,107
HEFA Al SEXA 376,000 0 376,000
= 188,000
Al 188,000
301 EtE NS 376,000 0 376,000
= 188,000
Al 188,000
01 Al EE A2 (2RNEXMR) 376,000 0 376,000
OBAAN BIAl SEXL
376,000,000 376,000
= 188,000
Al 188,000
MASSHEAH 4,038,508 3,630,772 407,736
= 3,333,016
[ 154,000
Al 345,327
- 206,165
A2 2 A 2,442,028 2,535,586 A\93,558
= 2,197,825
Al 170,942
- 73,261
402 QIF X201 & 2,442,028 2,535,586 A\93,558
= 2,197,825
Al 170,942
- 73,261
03 2IZHAETAIHHI 2,442,028 2,535,586 A\93,558
OXEZZ A I 2,442,028,000& 2,442,028
= 2,197,825
Al 170,942
- 73,261
KNER2HE 29 432,979 406,401 26,578
= 303,085
Al 64,947
- 64,947
307 @120l & 432,979 406,401 26,578
= 303,085
Al 64,947
- 64,947
10 Al SAAEEHE 22X 432,979 406,401 26,578
OXgt2He 23| 432,979,000 432,979
= 303,085
Al 64,947

_21_




FA I OoNer 1t
M HASE MBOIN J|g 1%
Bel: NASSTHEXR (St &)
SA - B BRA(SH) - HRA - of v e HIDE2
| = 64,947
KNSR HE SAHL =& X 18,240 18,240 0
Al 11,040
- 7,200
307 212+01& 18,240 18,240 0
Al 11,040
T 7,200
10 Al2IS XA EEE 22X 18,240 18,240 0
OXNSA2HE SANKRHL -
150,000 x8& * 12 14,400
Al 7,200
- 7,200
OXIS e SANASS
40,0002 x8&* 12 3,840
Al 3,840
JAtZtE S22 el AFALY 220,000 210,572 9,428
[ 154,000
Al 33,000
- 33,000
402 2IZtA=01d 220,000 210,572 9,428
= 154,000
Al 33,000
T 33,000
03 2IZH2AETAI I 220,000 210,572 9,428
OJIARME &E22IAL ALY
220,000,000 220,000
= 154,000
Al 33,000
T 33,000
ZEsEAe==MAE=sSAZ A 925,261 459,973 465,288
= 832,106
Al 65,398
- 27,757
402 QI2F X201 & 925,261 459,973 465,288
= 832,106
Al 65,398
- 21,757
03 2IZHAETAIHHI 925,261 459,973 465,288
OslrI=SE | 8.,640,000& 8,640
= 7,776
Al 605
- 259
O3 LI =SS A I 31,464,000& 31,464
= 28,318




A =QIE0HRI Dt
M HASE MBOIN J|g 1%
&l HASENEKE (EEEE))
SA - B GR(31) - HIRAY - BES il &k e HlmS2
Al 2,202
o 944
OULIISSEAI 13,542,000 13,542
= 12,188
Al 948
- 406
OFUS I ISETAY 8, 140,000& 8,140
= 7,326
Al 570
- 244
OFAMEAH 80,708,000& 80,708
= 72,637
Al 5,650
- 2,421
Os|LH=AHE | 62,927,000 62,927
= 56,005
Al 5,034
- 1,888
O3 Y M=HZEHI 76,880,000 76,880
= 69,192
Al 5,382
= 2,306
OEIENEIpCESTE NN E T
58,620,000 58,620
= 52,758
Al 4,103
= 1,759
OBALL NS HEH AP Z D)
584,340,000 584,340
= 525,906
Al 40,904
- 17,530
HE2IZH| 140,397 147,174 A6, 77T
IR Y| (=l &0 ) 84,777 83,3% 1,383
QIR AY| 84,777 83,394 1,383
101 @124l 84,777 83,394 1,383
01 2 82,798 81,474 1,324
O=22=< 82,798
OARI2AZRE
12,3212 *35A1 2+ x 16+ 122 82,798
02 JIEtA B 1,979 1,920 59
O=uZ=¢ 1,979
OAIZIA2REH(AIZHI RN O12)
9, 1602 x18A| 2H+ 12« 123 1,979
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A R==t P10 ReTi
ZE: @S|
Shel: D= (L QIR0 D) (crol: M el)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
Jl2dul(= ol &oHelnt) 55,620 63,780 28,160
Jl=&Hl 55,620 63,780 28,160
201 L2 19,740 19,740 0
01 At22te|bl 19,740 19,740 0
OJI2At222ll 21,0003 x17H* 123 4,284
O=gtl 13,056
OEZ2s4tl 8,000& *17H 841« 12 13,056
Oogxt=z 2,400
O=AD| Sxtz 200,000 1CH* 122 2,400
202 OH| 32,640 40,800 28,160
01 2L AL 32,640 40,800 28,160
O2LHobl 20,0003 x17H 82«12 32,640
203 BRI 3,240 3,240
04 PAE2EERFAH 3,240 3,240
OJIZEH(20ZH0I5t) 300, 000& * 122 »90% 3,240
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